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A S IS B P IS C. B9 5
M EREE | W) ERFAR BE - IBER YT -4 — B A - 1RER 1) —F — [BE - RER
B 1.143 1,647 2,126 2,273
BE 1.062 1,530 1,974 2,112
ME)I | 1.095 1,578 2,036 2,177
F= 1.059 1,525 0% 1,969 35 2,106 S
TRk 1.008 1,452 1,875 2,005
AR 0.993 1,431 1,846 1,974
A P IS B S IS C. P B
iR | WERFIG BE N - RBER Y7 ) -4 —ge S - 1RER 1) —4 — BEH - RER
BR 1.143 1,516 1,956 2,093
BE 1.062 1,409 1,817 1,945
MZ) | 1.095 1,452 1,874 2,005
F= 1.059 1,404 0% 1,813 35 1,939 S
TRk 1.008 1,337 1,726 1,845
AR 0.993 1,317 1,699 1,818
A [dE35] B [WEITE| C |[HBEIB
iR | FERFIG RE N - BER Y7 )4 —Re S - 1RER 1) —4 — BEH - RER
BR 1143 | 1,278 1,650 1,764
BE 1.062 | 1,187 1,533 1,640
2= | 1.095 1,225 1,581 1,690
FE= 1.059 | 1,184 0% 1,529 35 1,634 SF
B3 1.008 1,127 1,455 1,656
HAR 0.993 | 1,110 1,434 1,532
A [dE35] B [WEITE| C |[HEIB
iR | FERFIG RE N - BER Y7 )4 —Re - 1RER 1) —4 — BEH - RER
BR 1143 | 1510 1,950 2,086
5E 1.062 1,403 1,812 1,938
2= | 1.095 1,447 1,868 1,999
Fi= 1.059 | 1,400 0% 1,806 35 1,932 S
I 1.008 1,415 1,826 1,953
AR 0.993 | 1,313 1,694 1,812
A [HiETBH| B [HEIB| C [HETD
Hi SRR | W) ERFIR BE 1 - IBRER Y7 -4 — B A1 - RER 1) — 4 — [BEH - RER
BR 1.143 1,361 1,757 1,879
5E 1.062 1,265 1,632 1,747
2= | 1.095 1,304 1,683 1,800
FE= 1.059 | 1,260 0% 1,628 35 1,741 S
I 1.008 1,201 1,549 1,657
HAR 0.993 | 1,183 1,526 1,633
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A S IS B P IS C‘ B9 5
M EREE | W) ERFAR BE - IBER YT -4 B - 1RER 1) —F — [BE - RER
B 1.143 | 1,241 1,614 1,714
BE 1.062 | 1,153 1,500 1,592
#MZ=)I | 1.095 | 1,189 1,546 1,642
F= 1.059 | 1,149 0% 1,496 35 1,588 S
TRk 1.008 | 1,095 1,423 1,511
mAR 0.993 | 1,078 1,402 1,489
A P IS B S IS C‘ PSR B
iR | FERFIG RE N - RBER Y7 ) -4 —BeH - 1RER 1) —4 — BEH - #RER
BR 1143 | 1,336 1,725 1,844
BE 1.062 | 1,241 1,603 1,714
#Z) | 1.095 1,279 1,652 1,767
F= 1.059 | 1,237 0% 1,598 35 1,709 S
TRk 1.008 | 1,178 1,521 1,627
AR 0.993 | 1,161 1,498 1,603
A [HE¥E] B [dWEHIB| G [HBTD
iR | FERFIG RE N - BER Y7 ) -4 —BeH - 1RER 1) —4 — BEH - RER
BR 1.143 1,389 1,792 1,917
BE 1.062 | 1,290 1,665 1,780
2= | 1.095 1,330 1,716 1,836
FE= 1.059 | 1,287 0% 1,661 35 1,776 S
P/ 3 1.008 1,225 1,580 1,690
wA 0.993 | 1,206 1,557 1,665
A [dE35] B [WEITE| C |[HEIB
iR | FERFEIG RE N - BER Y7 )4 —ReH - 1RER 1) —4 — BEH - RER
BR 1.143 1,359 1,754 1,877
BE 1.062 | 1,264 1,630 1,743
2= | 1.095 1,302 1,680 1,798
Fi= 1.059 | 1,259 0% 1,626 3 1,739 S
P/ 3 1.008 1,200 1,547 1,655
AR 0.993 | 1,182 1,524 1,631
A [WiETBH| B [HEIB| C [HETD
Hii SRR | W) ERFIR BE 1 - IBRER YT -4 — B A1 - RER 1) — 4 — [BEH - RER
BR 1.143 1,336 1,725 1,844
BE 1.062 | 1,241 1,603 1,714
2= | 1.095 1,279 1,652 1,767
FE= 1.059 | 1,237 0% 1,598 35 1,709 S
I 1.008 1,178 1,521 1,627
HAR 0.993 | 1,161 1,498 1,603
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A [HiE¥E] B [HWEIB| G [HBTS
M EREE | W) ERFAR BE - IBER YT -4 B - 1RER 1) —F — [BE - RER
31 1143 | 1518 1,960 2,096
BE 1.062 | 1,411 1,821 1,948
#MZ)Il | 1.095 | 1,455 1,878 2,008
FE 1.059 | 1,406 0% 1,816 35 1,943 S
TRk 1.008 | 1,339 1,729 1,848
mAR 0993 | 1,319 1,703 1,821
A P IS B S IS C. PSR B
Mt SRR | W) ERFAR BE - IBER YT -4 — B A - RER 1) — 4 — [BEH-RER
HR 1.143 | 1,395 1,800 1,925
BE 1.062 | 1,295 1,672 1,789
#Z) | 1.095 1,336 1,725 1,844
FE 1.059 | 1,292 0% 1,668 35 1,783 S
TRk 1.008 | 1,230 1,587 1,697
AR 0993 | 1,211 1,564 1,672
A P ) B S ) C. P B
Hit SRR | W) ERFIR BE 1 - IBRER YT -4 — B A - RER 1) — 4 — [BEH - RER
BR 1143 | 1,298 1,676 1,793
5E 1.062 1,207 1,558 1,666
2= | 1.095 1,244 1,606 1,717
FE= 1.059 | 1,203 0% 1,553 3 1,662 SF
I 1.008 1,145 1,479 1,581
wA 0993 | 1,128 1,457 1,558
A e % B XT3 C | XBYD
Hit SR | W) ERERR BE 1 - IBRER YT -4 — B A - RER 1) —F — [BEH-RER
BR 1.143 1,395 1,800 1,925
BE 1.062 | 1,295 1,672 1,789
2= | 1.095 1,336 1,725 1,844
FE= 1.059 | 1,292 0% 1,668 3 1,783 S
P/ 3 1.008 1,230 1,687 1,697
AR 0.993 | 1,211 1,564 1,672
A e % B e % C | XBYD
Hii SRR | W) ERFIR BE 1 - IBRER YT -4 — B A1 - RER 1) — 4 — [BEH - RER
BR 1.143 | 1,328 1,714 1,833
5E 1.062 1,233 1,592 1,703
#MZ) | 1.095 1,271 1,642 1,755
FE= 1.059 | 1,230 0% 1,588 3 1,698 S
I 1.008 1,170 1,511 1,616
HAR 0.993 | 1,153 1,489 1,592




